Problem 5.9

Given filter coefficients are: by = {13, —13,13} and x[n] = 0,
if n is even and x[n] = 1, if n is odd.

Compute y[n] by synthetic polynomial multiplication method:

n 4] 3[2]-1] o 1 2 3 4 5
x[n] 0 1 ol 1] o 1 0 1 0 1
h[n] 13 | -13 | 13

hiojxin] | 0 [ 13| 0 [13] o 13 | 0o 13 0 13
h[llx[n-1] | -13 | o [-13] o | -13 | o | -13 | o -13 0
hi2x[n-2]1| o | 13 ] 0 [13] o 13 | 0o 13 0 13

y[n] 13 | 26 [-13] 26| -13 | 26 | -13 | 26 | -13 26

Hence, from the table,

y[n] = —13, if n is even and y[n] = 26 if n is odd.
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